Realiy desrssmeni Bty

[(TT 1]

Cenire Number

(TTTTTTTT]

Student Number

2016 HIGHER SCHOOL CERTIFICATE
TRIAL EXAMINATION '

Mathematics

General Instructions

Reading time — 5 minutes

Working time —3 hours

Write using blue or black pen
Board-approved calculators may be used
Write you student number on this page
and on the muitiple-choice answer sheet
+ A table of standard integrals is provided

* ® ® =2

Total marks — 100

10 marks
e Aftempt questions 1-10
¢ Alow about 15 minutes for this section

Section Iy | [ages 6-12

90 marks

2016 HIGHER SCHOOL CERTIFICATE
TRIAL EXAMINATION
MATHEMATICS

- Seetion I

10 marks
Attempt Questions 1-10
AHow abouf 15 minutes for this section

Use the multiple-choice answer sheet provided for Questions 1-10

1 Which of the following is the value of 3e’, correct to 3 significant figures?

(A) 602
(B) 603

© 60256
(D) 60,257

is equal to which of the following?
2 5 \ﬁ 2 (] g

af the back of this paper ¢ Attempt questions 11-16 s3+2
+  All necessary working should be shown |* Allow about 2 hours and 45 minutes for this (&)
in every question section : 73
®) 53 -2
221
5J3-2
©
77
™) 5342
71
Disclaimer
Every effort has been made to prepece this Examination in sccordance with the Board of Studies documents. No guarantee or wamanty is made or
implicd that the Exemination paper mirrors in every respect the sctual HSC Examinstloa question paper in this course. This paper does not constitute
‘advice’ nos can it be tonstrued as an avtheritative interpretation of Beard of Studies tntentions. Mo Liability for any relience, use or purposs related to
this paper is taken. Advice oa HSC examination issues is only to be oblained from the NSW Board of Studies, The publisher does not accept any
responsibility for acouracy of papers which have been modified.
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6 A bag contains 6 green marbles and 4 yetlow marbles. Arjun takes out one marble at a
time from the bag without replacing if.
‘What is the probability that the second marble he takes out is yellow?

I t l t T ¢ 1
a }_ L X _3_1'- (A) -
2[4 2 2 3
2
; ' ‘ )y =
2 } @ 5
Which of the following is the equation of the above diagram? © 9
(&) y=2coslx . %
(B) y=2sin2x ()] L3
: 25
C = 2c05£
© y=2c055
m = ~251n%
7 The sum of {he first 10 terms of the sequence {12+3x), (6+4x}, 5%, ......is equal to?
4 The perpenﬂicular distance from the point (2, —2) to the line 2y =3x+41is equal to?
9 (A) 66-6x
w5 ®  390-15x
6 (©)  100-32¢
(B) s D Tsx—150
14
C _—
©) 3
14
M) ﬁ 8 Which of the following is the equation of the directrix to the parabola
(y-3¥ =-12(x+1)?
5 The derivative of 2xsin>- is?
2 A) x=2
K = cos% ®) x=-4
€ x=6
(B) 2sini2-+2xcos§ . D x=0

. X x
2sin—+xcos—
(%] 5 5

X . X
o5 ——Xxsin—
) 2 2
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The diagram above represents a sector of a circle with an angle of 60° and an arc length
AB =2¢m. Which of the following is the area of the seclor?

9
Gy
®)
©
™
10

—cmn
30

6
— e
7
wlem’

Ecm2

=1

The diagram above shows points P, 0, R and S on the GRADIENT graph of
y = f(x). At which point does a local minimum exist?

Secction I

90 marks

Attempt Questions 11-16

Allow about 2 hours and 45 minutes for this section

Answer each question in a separate writing booklet, Exira writing booklets are available.

In Questions 11-186, your responses should include relevant mathematical reasoning and/or
calculations.

Queestion 11 (15 marks) Use a separate Writing Booklet.

(#) TFactorise 3x* ~5x+2. 1
Evaluatelim x ~27
® =3 -6 ) 2
(¢) Find the equation of the tangent to the curve y =x* +1 at the point x=1. 2
(d) Differentiate (Inx+4Y . 2
(¢)  Solve and graph the solution of |3x#5| <4. . . 3
(H Find J ! T dx. . 2
x—4
(g) Sketch the region defined as: . 3

¥+y' <4 and y22-x%,

A Q
® s
c P
R
([,)) End of Question 11
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Question 12 (15 marks) Use a separate Writing Booklet.

Question 13 (15 marks) Use a separate Writing Booklet,

(&)  Find the value(s) of  for which the equatien x* + mx+(m +3)=0 has:
(2} Giventhat cos@= -2 and fan& <0, find the exact value of sind.
13 (i} Oneroot equal to 3.
®) ¥ (i) Real roots.
Not to scale ®)
B(6,3)
Not to scale
x
The points OABC form a quadrilateral, where, B =(6,3), C={4,0) , O is the
origin and A lies on the y-axis. The angle of inclination of BC is 45° and AB
is perpendicular to BC. A
i - - On a sailing trip Amelia sails from port A to Port B on a bearing of 330" for -
()  For C=(a,0), show that a=3.
: 10 /m. She then changes direction and sails to port C on a bearing of 030° for
(ii) Show that the equation of line AB is x+y-9%=0. 100 .
(i) Find the coordinates of 4 (i}  Copy the diagram in your solution booklet and show £Z48C = 120°,
, (i) Use the cosine rule to find the length of AC to 2 decimal places.
(iv) Hence find the area of OABC.
(iii) Find the bearing of 4 from C to the nearest degree.
(¢} The sales team at Frontier phone company sell 12 000 phones in the first
month of operation, They increase their sales by 800 phones each month on . . N
the preceding month’s sales. : (¢}  Consider the function y=x"{3-x).
(i)  Find the number of phones sold in the last month of the second year of (i} Find where the curve cuts the x-axis.
operation,
(ii) Find the coordinates of the two stationary points and determine their
(iiy  Find the number of phones sold over the entire two year period. nature,
(i) Sampson, anather phone company cornmenced business at exactly the (iii) Find the coordinates of any points of inflexion.
! P
same time as Fronfier. Their sales team sell 5 000 phones in their first
month of operation and increase their sales by 1 500 each month on the {(iv) Sketch the curve y = e (3ﬁ x) .
preceding month’s sales. .
After how many months will both companies tolal sales become equal?
Eud of Question 12 End of Question 13
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Question 14 {15 marks) Use a separate Writing Booklet.

Question 15 (15 marks) Use a separate Writing Booklet.

(@  Tind the domain of p=vx?—1, @) A B
X 2 42
i) Show that t = .
® O ' -1 ox-1 2=
Not to scale
(ify Hence or otherwise J.si *2 .
£ —
. n C
()  The finals of the Wagga Wagga Basketball competition is between the . . )
Mavericks and the Rams. The finals are the best out of three games. If a team ABCD is a thombus and BD is a diagonal. DC is perpendicular to £C
wins both the 1% and 2™ games, the third game is not played. In any game, and AF meefs BD at E,
the probability of the Mavericks winning is 3 while the Rams have a (i) Copy the diagram in your writing book and give reason(s) why 1
3 ZADE = ZEDC.,
probability of - of winning any game.
10 (ii) Provethat AdDE = ACDE. 3
(i)  Show that the probability of a draw in any game in the finals is -L
10 (iii) Hence prove that AEFC is a right angle triangle. 2
(i) Find the probability that the Mavericks win the first two games.
®
(iil) Find the probability of the Mavericks winning the championships in
three games, where one game is g draw.
(d) Traces of a particular drug used o remedy colds by athletes are permitted ina
particular sport, The blood-medicine content (34) in the blood afler & certain ;
athlete has taken the medicine is: oy
M =0.32(0.8)
where / is in hours and A is mg/ml
(i) Ifthe allowable blood-medicine limit to compete {s 0.09 mg/nd, by .
what factor is the athlete initially over the limit. The diagram above shows the graph of y =log, x. The area bounded by the
: curve, the line y=2 and the x and y axes is rotated about the y-axis.
(D) Show that M can be expressed as M =0.32¢ 925",
2
(it} After how many hours and minutes will the athlete be legally able to (i} Show that the volume of the solid formed is given by ¥ = zrj‘ e gy, 2
compete. : 0
(i} Hence find the exact volume of the solid. 2
End of Question 14 Question 15 continues over the page
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Question 15 (continued)

A cone s inseribed in a sphere of fixed radins p cm and centre 0. The base of
cone has a radius r cm and the lengih from the base of the cone to the centre
of the sphere is x ¢cm.,

(i)  Show that the volume ¥ of the cone is given by

4 =§|:p3 +p"’x—p.x2 —xa].

(i) Hence find the value of x for which the volume of the cone isa
maximum. - ’

End of Question 15

Question 16 {15 marks) Use a separate Writing Booklet.

®

()

©

Use Simpson’s rule with three function values to show that

%
4

ny g T
J.cosecx dx 6[2+J5].
A :
3

A particle is moving in a straight line. Its displacement from the origin (x cm)
as a function of time (f minutes) is given by x=¢™ cost.

(i) ~Show that v=—¢"{cost +sins}and a=2¢"sins.

(i) Find the first two times when the particle is at rest.
(iii) Find the first time when the particle has the greatest velocity.

{iv) Give a brief deseription of the movement of the parlicle from /=0 to
t—w

Lola borrows $300 000 to buy a house. She has agreed to pay back a total of
$22 500 each year uatil the loan is paid out. The loan agreement is for 6%

p.a. reducible interest. Let p be the number of regular payments each year of
$M. Hence Px A =$22500at the end of each year. Interest is calculated and

charged just before each repayment.

(i)  Show that the amount owing after the second repayment is:
2
4= $3ooooo[1 +%} - M[, J{l . 0.}(35)] _

(i) Show that the amount owing after » repayments is:

A =%375 000—375000(1+-q'£é) .

(i) Calculate how much quicker Lola’s loan would be repaid if she paid
the loan back in equal monthly instalments rather than equal quarferly
instalments.

End of Paper
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| QATS 2016 HIGHER SCHOOL CERTIFICATE

Section 1T

4 g A
DRy daseseert ks TRIAL & MINATION Question 11 (a)
MATHEMATICS - MARKING GUIDELINES Criteria Mark
s Correct answer 1
) Sample answer
Scetion I 35 ~Sx+2=(3x-2){x—1)
Maltiple-choice Answer Key
Question 11 (b
Question | Answer ®
1 ' B Criteria Marks
§ l}i * Correct solution 2
R £ ) | T PR 1
4 C « Achieves [im (—L-—l
5 C x-33 2(x - 3)
6 B
7 D Sample auswer
8 A 5_ x—-3)x*+3x+9
9 B fim| > 27 =I'm_( )( - )
io D 3| 2x-6 ) 33 2(_,;_3)
2
X +3x+9
=lim ( )
x=3 2
z
2
Question 11 (c)
Criteria Marks
¢ Correct solution 2
s Achieves correct gradient and y value of point 1
Sample answer
y=x"+1
y'=3
r=2 (.2)
F{1)=3 m=3
y=2=3(x~1)
y—2=3x-3
Pisclaimer Jx—y-1=0
Every efiort has been mads to prepare this Examination in sccondance with the Board of Studies documents. No guarantee o wamanty is made or
imptiad thet the Examination paper mirors in every respact the acfual HSC Examination question paper in this course. This paper does not constifute
*advice’ nor can it be construed &3 #n sulboriletive interpretation of Board of Studies intentions. No lisbility for any reliance, uss or puipose related to
this paper is teken. Advice ta HSC examination issues is only to be obiained from the NSW Board of Studies. The publisher does not ecvepl eny
responsibility for accurzcy of papers which have been modified.
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Question 11 {d) Question 11 {f)
Criteria Marks Criteria Marks
s Correct solution 2 o Correct selution in any format, with or without ¢ 2
e  Achieves 5(1nx+ 4)4 1 .
¢ Notes J.(.T—4)_3 v and attempts integration with one mistake I
Sample answer Sample answer
d 5 5 1 1
—(Inx+4) =5(lnx+4) x— e {4y
< (nx 4y =5(tnx+4) j(x_d), dy = [(e—A)" av
4
5 + .
_S(inx+a) (o)
x =+ L3¢
-1
s——"—te
Question 11 (¢} 2{x-4)
Criteria Marks:
¢ Correct solution and graph 3 Question L1 (g)
L 3
2 Sterd Marl
o Achioves 1 <v<3 : Criteria arks
3 s Correst solution 3
1 2iyt g : =2-2? 2
o Achioves £<3 oF xZ% ¢ Cormectgraphof " +3" <4 and y22-ux
s Correct graphof x* +y* 24 or yz2-%° !
Sample answer
¥3x —5] <4 Sample angwer
3x-5<4 or 3Ix-52—4 s:v
3x<9 3xz1
xs3 X 1
3
—1- <x=3 '; i x
3
<t —>
- 3
3
MIR16_GUIDELINES 3 MTRIG GUIDELINES 4




Question 12 (a)

Question 12 (b) (jii)

Criteria Marks Criferia Mark
» Correct solution 2 s Carrect solation 1
*  Appreciates that relevant angle Hes in the second quadrant 1 '
Sample answer
Sample answer For x+y-9=0, letx=0
Since cosf):—% and tan& <0, ~y=9 4=(0,9)
@ lies in the second guadrant.
Hence siné?:li Question 12 (b) (iv)
Criteria Marks
Question 12 (b} (i) e Correct solution 2
»  Works positively towards answer i
. Criteria Mark 5
1 .
o  (orrect answer Sawple answer {g )
Fotho seate
Sample answer
Mg, = tan 45
My =1 (4,3 B(&3)
3-0 L 3-0 o 45
Mg = H—=1 a=3 coH
—a —a : 1 3
Area=|—x6x6 [+=[3+6]
, 2 2
Question 12 (b) (i} =18+E
2
Criteria Marks i,
¢ Correct solution 2 =31 units
» Achieves correct gradient from (D) 1
Sample answer Question 12 () (i)
my =1 (e xm g =—1)
y—-3=-1{x—6) Criteria Marks
y-3=—x+6 » Correct solution 2
s Substifutes both ¢ and 4 in correct formulas {
x+y—-9=0
Sample answer
a=12000 4=800
T =a+{n-1}d
7,y =12000+23(300)
=30400 phones
5 MTR16_GUIDELINES 6
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Question 12 (¢} (ii) Question 13 (a) (ii)
Criteria Marks Criteria Marks
& Correct solution 2 ¢ Correct solution 2
»  Correct working with one mistake 1 +  Obiains discriminant and notes A>0 I
Sample answer Sample auswer
N
'S, =£{a+!} A=b"—4dac
2 =m? —4(m+3)
8,, =12{12000+30400} 2
=m" —4m—-12
=508800phones Forreal roots A2 0
m—dm-1220
Question 12 (¢) (i) (m~6)(m+2)=0
m<-2ormz6
Critgria Marks
¢ Correct solution 3 Question 13 (b) ()
o Achieves correct quadratic from their working 2
s  UsessS, for each company in solution 1 Criteria Mark
¢ Clearly notes answer in diagram or indicate a combination of alternate angle 1
Sample answer and complement of30°
Smpsm = SFrcﬂler
" . Sample answer
5{24 000 +(n—1)800} = 5{10000 +{n-1)1500}
{8007+ 23200} = 1 {1500n+8500}
3 2 Not to seale
800s° + 232000 = 1500n" +8 500n
7001 —14700n=0
n-2ln=0
n=0,21
Total sales become equal afier 21 months. f p
60°
' Hence ZABC = 60° +60° =120°
Question 13 (a) {f) ence
Criteria Mark
¢ Correct solution i
Sample answer
For x*+amx+{m+3)=0, x=3isaroot
S 94+3m+{m+3)=0
4o =—12
m=-3
MTR16_GUIDELTNES 7 MTR16_GUIDELRVES 8




Question 13 (b) (ii) Question 13 {c) (ii)
] Criteria Marks Criteria Marks
s Correct solution 2 « _Correet solution 3
s Substitutes correetly in the cosine rule formulae L + Achicves both stationary points 2
» Differentiates correctly and achieves one stationary point 1
Sample answer
AC? =100% +102 —(2x100x10xcos]20”) Sample answer
2
AC =105.3565 y=x'(3-x)
=105.36 y=3" =¥
y'=6x-3x"
. "=6-06x
uestion 13 (b) (ifi ¥
Q (&) Gib Stationary points occur when y'=0
Criteria Marks 6x-3x' =0
« Correct solution 2 2x—x" =0
» Substitutes correctly in the cosine mls formulag )
x (2* .1:) =0
Sample auswer x=0,2
sind _ sin120° Stationary points occur at (0,0) and (2,4)
10 10536 Check concavity —
sind _10sini20° FU(0)=6  .(0,0)isaminimum turning point
105.36 f(2)=-6 ..(2,4)isamaximum turning point
O=443"
f=5"
Bearing from A4 to C=270" - (60’ + 5") =205° Question 13 (¢) (iii)
. . Criteria Mark
tion 13
Question 13 (c) (§) ¢ Correct solution 1
Criteria Mark Sample auswer
1
»_ Correct answer Points of inflexion oceur when y" =0 and the curve changes concavity.
Sample answer 6-6x=0
Roots of the equation oceur when y =0 x=1 (1,2)
¥ (3-x)=0 x |o 1]z
nx=0,3 y 1610 {6
~(1,2) is a vertical point of inflexion
9 MITR16_GUDELINES 10
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Question 13 () (iv} Question 14 () (D
Criteria Marks Criteria Marks
¢ Correct diggram 2 » Corrects solution 2
«  Uses their solution to represent graph with one error 1 »  Works positively towards answer 1
Sample answer Sample answer
oS =-F 4
-1 x-1
@8 - bt
(x—}(x+1) (x-1)
12 _ x+2(x+1)
| ¥ I ' (.Y - 1) (x + 1)
3 a R 3x+2
e B xz -1
Question 14 (a) Question 14 (b) (i}
Criteria Mark Criteria Marks
e Correct answer 1 + Correct solutions (disregard exclusion of ¢} 2
¢ Uses part (i) {o rewrite and achieves one part of selution 1
Sample answer
¥ -120 Sample answer
(x—1){(x+1)20 J'3x+2 dt='[ ¥ L2 g
7 e 2 "
x<-1 or x21 ¥ -1 x-bx-d
" Domain={x:x<-1 or x21}} =~:lzlnlx2—l|+21n|x—l|+c
Question 14 (c) (i)
Criteria Marks
| « Correct solution 2
+ Demonstraies an understanding of complement of events |
Sample answer
P(Draw) =1=[POV s ) + P W)
=1- |:§._|_ i]
5 10
1
i0
MIR16_GUIDELINES it MTR16_GUIDELINES 12




Question 14 (d) (ii)

Question 14 (c) (i) Criteria Mark
. ¢ Correct solution 1
Criteria Mark
s Correct solution I Sample answer
Show(0.8)' = ¢ 28!
Sample answer r ,
3.3 (0.8) ={¢*")
POV, a ) =—%—
5°5 By calculator:
9 &2 = 4,80003
25 e =08
(0.8)' =g 02BN
Question 14 (c) (iil) Hence M = 0.32¢°23"
Criteria Marks
*_Conect solution — P— . 2 Question 14 (d) (i)
¢ Achieves one of the possibilities or presents both options without solution 1
Criteria Marks
Sample auswer. o : « Correct solution 2
P(Maverickswinning inthree games) = P{DWW )+ P(WDW) e Solves 0.09=0.32¢"®" using natural logs 1
I 3 3 31
=| —x=x— |+] =x—
10 5 5 5 10 Sample angwer
18 0.09=0.32¢ 2"
250 0.28125 = 02"
2 In(0.28125)=~0.22311
125 in(0.28125)
-0.2231
Question 14 (d) (i) £=5.686
. { =5hours 41minutes
. Criteria Marks
¢ Correct solution 2
» Achieves initial M 1 Question 15 (a) (i)
Sample answer Criteria Mark
= : 1
M =0.32(0.8) ¢ Correct reasons -
=0 M=032 Sample answer
Factor over the limit = 032 _ 3.6 LADE = LEDC (Diagonals of a rhombus bisect the vertices of a rhombus),
0.09
13 MIRI§ GUIDELTNES 14
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Question 15 (a) (i)

Question 15 (b) (i)

Criteria Marks Criteria Marks
»  Correct solution 3 ¢ Correct solution 2
* Correct solution with one mistake in reasoning 2 e Achioves [e ,bg]: i
» Positively working towards sclulion ] In9
Sample answer Sample answer
Prove AADE = ACDE ) EE
AD=CD (sides of rhombus are equal} Vem I e’ dy
ZADE = ZEDC (proven in part (i) o
ED is commmon _T I: o yh?:r
"9 o
LAADE=ACDE  (S4S) C R ame
“msle "]
Question 15 (a) (if) = ;ﬁ[gl -1
Criteria Marks _40rx wnits®
» Correct solution with ore mistake in reasoning 2 In3
+ Presents one line of solution with correct reasoning L
Sample answer Question 15 {¢) ()
ZDCE = /DAE =90 (Corrésponding angles in congruent triangles are equal) —
£DAE= /BFE (Alternate angles in parallel lines, 4D paralleltoCB) Criteria Marks
, L + Correct working 2
£EFB = ZEFC=90" (Straight line) ; - T 1 - - 1
+ AEFC s a right angle triangle s Substitutes either x* = &° —r* or h=x+ pin correct volume formulae
Sample answer
Question 15 (b) (i) Now :
el =pt also h=x+p
Criteria Marks P =ptoy?
s Correct solution 2
e Achieves x =™ 1 1
V= gﬂrlh
Sample answer o
y=log,x =€(p2—x1)(x+p)
ZInx -
.y In3 =—3—[xp2+pléx3—pr1:|
yln3=Inx x
x=e? =-§[p3+132x4pr2~.1'3:|
x? = [eyhl ]2
x? = eZ;ln]
PN
15 MTR1§_GUIDELINES 16
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Question 15 (¢} (i)

Criteria

s Correci solution

s Achieves x=§,—p

. V'zg[pthx—axi]

Sample answer
iy
V==p'+px—p* ¥
LR
”
Vi==|p*-2px-3s
S[P' 23]

V"=%[—2p—6x]
Stationary points occur when 77=0
T
E[pz r-2p.t~3x2] =0
It e2pe-pt =0
(3x-p)(x+p)=0

P
x=5—
3 14
x=% (x>0

pn (g] = %[4 p]<0  concavedown maximum

Hence when x =§the volume of the cons is a maximum,

MIR16_GUIDELINES

Question 16 (a)

Marks Criteria Marks
3 ¢ Correct solution 2
2 » Obtains correct function values 1
1 Sample answer

A A
4 2 4
cosec X 2 1 N
weight 1 4 1
result 2 -4 2 Sum =—4—242
T L4
=4 4
j cosecx dx 3 [ 4 2&]
14
)
-
== [4+2v2]
—__ 7
= —6—[2 +2]
Question 16 (b) (i)
Criteria Marks
¢ Insert standard referenced marking criterion here 3
s Obiains gither v or a (from their v} 2
» Obtains either v or & (from their v) with one error 1
Sample answer
x=¢" cost

P cosrx(—e")+ e’ {-sinf) -

y=—¢"'(cost+sint)

a={cost +sin t)x(e")+(—e")x(—sinr +cost)
=g [cosr+sim‘ —(-sin +cost) ]

=2¢" sint

MTR16_GUIDELINES




Question 16 (b) {ii)

Criteria

Marks

¢ (Correct solulion

¢ Achieves tan¢=-1

Sample answer
At rest when v=0

s—¢ " (vost +sint)=0
e"#0 cosf+sinf=0
tanf=-1

Question 16 (b} (iii)

Criteria

Mark

o Correct solution

Sample answer

Greatest/least velocity occurs when a =0

~2e sint=0

e’ =0 sint =0
t=0,7

whent=0 v=-1

whent=7 v=1

Greatest velocity oceurs first when { =

Question 16 (b) (iv)

Criteria

Mark

¢  Correct description

Sample answer

The particle is oscillating on either side of the origin, with distance on either side diminishing.
The particle is fending towards the origin.

Question 16 (c) (i)

Criteria

Mark

s Correct working

Sample answer

1
4 =$300000[1+°'T?6) -M

1
4, =[$300000(1+%§J_M][1+9ﬁj Y
P P
¢ 1
=$300000[1+%] _ M(l . L{}s) iy
P P

2
4, =$300000[1+°-T°5J - M[l J{l N %}]

MIR16_GUIDELINES
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Question 16 (c) (ji) Question 16 (c) (iii)
Criferia Marks Criteria Marks
« Correct solution 3 s Correct solution 2
[ 0.06 " s Obtains one of the results- monthly or quarterly i
1 [1+—) —1J
, _ 0.06Y i 2 Sample answer
_ $375000ﬁ$75000[l+9-1'%§-) =0
e Achi =$300000| 1 0.6 ' M1+ + I+Oéo—6 . 1 ' n
oves 4, = | M It » $75000(1.005)" =$375000
) ns
n T ———————
. Sample answer In(1.005)
El B x-1 =
4, =$3ooooo(1+%) M 1+........:....+[1+9:9§J = 322.69 months
F | P =26.89 years
1[(1 +9'—0§)" #l] Quartley p=+4
- $300000[ 1+ %28 i ~M ? 0.06Y
T p 0.06 $375000—$75000(I+'TJ =0
P .
L $75000(1.015)" =$375000
R
- 1[[“%) ! " 11nos15
=$3ooeeo(1+%] —MP / n(.013)
P 0.06 =108.09quarters
=27.02 years
1([1 +9-9£Jn ulJ Monthly will be quicker by 0.13years.
0.06Y P
=$300000| i+—| —$22500 ———— = MP =%22500
§ [ p ) $ 0.06 $2
:3300000[”%] _$375000[[1+9'3§J —1]
P P
=$3oouuo(1+0'Pﬂ] —$375000(1+9g] +8375000
:$375000f$75000[1+$]
22




